[ Efficiency vs vertpos |

~ 0.2
o

$0.12
0.1

0.08F -+ f
0.06F -+ :

0.04f
0.02f -+

0.18F f
g o .
>016? """""
%) C .

B0.24F e :
o H

-
R PR SRR R
e eaaan Y 15 N
R 1 E 3 AR
oo
e eaaan Y 15 I R
e
e eaaaan Y 1S S [

1.0

Ratio

0.954

1072 107 1

Efficiend

0

o

I
=
|

0.6F i

efficiency vs vert z

Y S

0|
0.3t
0k i),

O e

Ratio

i
T

-10 0 10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.2

D e T T T U T T I
riu: S A A A A

S

GO it
U B S S S SN R B
>\ . . . . . . . . .

TS ORE TS OO O

I P h
h= 0-1__"':"' T H HEEH - -
[} o : : : : :
O)0): SRREEEE E RN FRR SRS SRR IRRS O SRR
T e by (At S SRR
R R

®o8 6 4 2 0 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


